0001685094138999

>

&0 MTNAE O0—o—

%583 EHICEET, OP|=1, p>0%H~ALTVEE S, OP= [(b) ] -Tdb@

(3 a1=8, ayy1=Sa—10 (n=1, 2, 3, )

Thd.
(4) IEAFEOETIZ L b 80T % 1 2T 2B/ Ky 11002255,

L x, dx@(é:%l’)tilﬁ)ﬁia‘ﬂj%ﬁﬁé:ﬂi [D]TH5. 5
logJ: ~— f’;‘_
(5) By = %, == m [(&) | e g KREE L 3.

2

P

3
0-.%:(".67‘ 'ﬁ'; "{)I’

@) (ot~ 40 = 2(0a-40)
- T {an—40} 13 ANIB -32, L re 2 0¥ regidy
CQAn—40= —32" (2—)"*' 2 Q= 40 - 32.(;'2;,)"”
@ (oBmi>thwuiEF i (1) = i:%

= |5
AR -
% d XA 12 7'

j - - B
0127 MR HELM I;F/QZE/Q’Z',K g;;_ﬁj
1| ROD2EMi% @25 A
-3 2
(1) ABRA8XB+TXLT =20 Dflir=[(a) | TH 5. (7 7.7
(2) O &AL (0, 0, 0) £ ¥ 5. X7 NI OP = (p, q, )7, 3 AL 0, c{ B(0, 2, 0), C(0, 0, 3)

Lo TEO LN DEI {a,} O—MIEIZ a, =
%0”32'(‘45)"—1
ZD 2 D% FIRHIHIT /-

(6) aﬂFOt'«a"é. FHBRR 2 —(a+Dx+a=02 14 0OM%EEMELTEDL X, a= THh,

TOLEDEMRI T = THd. Z
-
O t=2% ¢x<e.(t>0)
Fegir. §-tP+nti-t=0 £%3.
E(@t-Itr) =0 frowy.t=f o x=-3
@ op LEEABC &Y. GPLAB 1> opbL AL Thhb5, 0B-AB = op AL=0
-:T..! A—%:(-'IJ 2 IO)I -A_)C::(-ifol 3) J_v
op AB= ~Pt28=0--@® (p-AC=-Pt3ir=o -+ @
D@5 §=4P, p=4p chsE PHgiri=1 AtATIE, PrOXY




0001685094138999

&0 MENAE 0H—6—>

2012 4 FiR H5 1 [ QTE /28 £
1| R 2% 2 A

(1) HEASX 8% +7 X 4T = 2 Dfigld x = Th5.

(2) O &R0, 0, 0) & 3. <2 FLOP=(p, q. )4, 3#A(L 0, 0), B(O, 2, 0), C(O0, 0, 3)
%385 PHEICEAT, OP|=1, p>0%&i~ALTVWEHL S, OP = Th5.

(3) a1 =8, anp1 = 2ay,—10 (n=1, 2, 3, ) L E>TROBNBHH {a,} D—HR 0, = [©
Th5.

(4) EABROEREI 175 8 DBFE 1 DF OB/ /\FKY 1 IO 2055, 02 0% AT~
vE, BB E 1o 1 0EN iR Th5.

(5) Mty = 8L 3 o= DL xEAME L.

6) ax0r¥3. ABRX LI — (a+ 1Dz +a=0»1LN0OMEFEMELTEDOLE, a= ThY,
FToLEnEMIr=[(g) | TH5.

| - lel-

(5) y/= ZZTE * byx 17l I_QP% xJ|O)[ -] €
‘x. g" .|. O —

[
Y20 eT30 . X=E0LT, 4 el y

o BRME L. R kol X=e0td

.-—-—-——'_-I‘l

®) L+ L= Q
-1 )B=(at)x+a

E2

X2 -
xl—(q+|)1+a
=X

“arLta
“axta
o

D FARH . (- 1)(LCrA-a) =0 £H3

I3EAR 1T tRTz0zEes, |+1-a%0 ~a%2 ---@
X+a-a=00 FIFINt Deg<e.

D={+4a=0 -~ QaT-F AEOEaET

%

“HET, Ia+1+ql_-:(1+-i-)=:o Y. i”—é"

”




